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These problems all involve either +, -, x or ÷

Decide which sign to use and write out your calculations.

1. Three  planes  arrive  from  Africa  with  247,  199  and  287  passengers.   What  is  the  total  number  of  passengers  from  Africa ?

2. A  plane  arrives  with  302  people  on  board.  It  has  a  crew  of  14.   How  many  passengers  are  there ?

3. A  plane  from  Egypt  is  due  to  arrive  at  17.40.   It  is  one  and  a  half  hours  late.   When  does  it  arrive ?

4. A  four  engined  aircraft  used 724  litres  of  fuel  on  a  flight.   How  much  fuel  was  used  by  each  engine ?

5. Runway  1  is  2400 metres  long.  Runway  2  is  2125  metres  long.  How  much  longer  is  Runway  1 ?

6. A  plane  has  120  seats.  There  are  6  seats  in  each  row.  How  many  rows  are  there ?

7. Nine  planes  land  each  hour.  How  many  planes  land  each  day ?

8.  23  planes  arrive  each  day  from  Asia.  Three  times  as  many  arrive  from  America,  how  many  is  that ?

9. The  journey  from  London  to  Lagos  is  3115  miles.  The  journey  from  London  to  Sydney  is  10565  miles.  Is  the  journey  to  Sydney  more  or  less  than  three  times  as  far ?

10. London  to  Delhi  is  4169  miles.   London  to  Buenos  Aires  is  6985 miles.  How  much  further  away  is  Buenos  Aires ?

Answers    1. 733,          2. 288,        3. 1910,       4. 181,         5. 275,     6. 20,    7. 216,        8. 69,      9. More  than  3 x (3 x 3115 = 9345),   10. 2816.
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